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Hello, 
Many people are not sure how to use apostrophe correctly. It is trying to let you know the correct ways of using apostrophe.
Two usages of apostrophes:

(1) possession

(2) short form
Examples of possession:


The chairperson’s chair is bigger.

Eagles’ eyes have bigger pupil.


Examples of short form:



He didn’t run.

Let’s play.


Since apostrophes can be used in possession, many people mix the usage of apostrophe with other forms of possession. Therefore, the full view of all other forms of possession is depicted below.

	Personal Pronoun Subjective Case
	Possessive Adjective
	Personal Pronoun Objective Case
	Possessive Pronoun
	Reflexive Pronoun

	I

You

He

She

It 

We

You

They
	My

Your
His

Her

Its

Our

Your
Their
	Me
You

Him

Her

It

Us

You

Them
	Mine
Yours
His

Hers

Its

Ours
Yours
Theirs

	Myself

Yourself

Himself

Herself

Itself

Ourselves

Yourselves

Themselves






Now, do the excise to see if you can use apostrophe correctly.

Fill in the blank

i.e. enter an apostrophe and the letter “s” 
(1) That child____ hat is pretty.

As well, enter the appropriate tense where necessary. 

(2) Those children_____ dresses ___ red.

(3) My mother_____ shirts ___ soiled.

(4) Three boy ____ effort is bigger than one boy ____ effort.

(5) The name of Mainland China is “The People___ Republic of China.”
Comment on the below sentences by checking one of the boxes.
(6) Its tail is long.


It’s tail is long.


(7) The bag is hers.


The bag is hers’. 

Short forms:

(7)

She _________ swim.

(cannot)

(9)

She _________ finished.

(has not)

Use the personal pronouns, possessive adjectives, and possessive pronouns in table 1 to fill in the blanks below. As examples, some are completed.
(a) (1st person)

I have a car.

It belongs to me.

It is my car.

It is mine.

(b) (2nd person(s))

You have a car.

It belongs to you.

It is _________ car.

It is __________.
(c) (3rd person, male)

He has a car.

It belongs to him.

It is his car.

It is his.
(d) (3rd person, female)

She has a car.
It belongs to ______.

It is ______ car.

It is ______.

(e) (1st persons)

We have a car.
It belongs to us.

It is _________ car.

It is _________.

(f) (3rd persons)

They have a car.

It belongs to them.

It is ________ car.

It is ________.

(g) (3rd  person, not human)

It has a den.

It belongs to it.

It is ________ den.

It is ________.

Singular





Plural





did not





Let us





Please note that there is no apostrophe anywhere in the table at all. 





Table 1
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